= 0= 3

=O£
Ent
iz}
o
rok
b o

Aol shvz 2
ol obd A7

® b




o, o2 24 5

K3

@ BC, CA

® /B, /C

sABC 7} sht2 245

® AB, /B

ot

L
15 1o

VAl

A~

KeX
=



221319 340 o] YA L ehd 4RI AR}

o, 60 & o)/ 70 A vlwke] oY =7

&) /

12 .

10 AVA
8 N
6—\ |
: ya N
2 el \

el A

0+50 170 1 90 [(A)

40 60 80 100



7z
A12] 20%

ol 24 A7

=
7} A

le]

7} 20 Al
i, 16 A|ZF o]/ 20 A7 m|Eke]

e &
ghel ShAy

=4
} 16 A|ZF 1]

ol B &
ko] 12 A7t o]/
ol 20 A7t 7]

Hoh79 o

2~
T

Ll
A7

°laL, 16 Al

Tor

1
Ic
&)

ol o
op =

T o

]_

~

<k

o

Al

ol

9

!

jul

N

St
=

=k

=iy
1o

o] aH4
.

El_]_—
3

Al

Rl

24 1(A17h)

20 28

I N

16

8

()

12
10

12

4

@ 11 ® 124 @ 134 ® 144

® 107



5.

o2 I 9] AMER hEo|x| = Y7 5o F
Te?

@ 407 cm? @ 427 cm?

® 447 cm? @ 467 cm?

® 48rcm?

O

~

10cm
\

S~4rem-”

@)




® 7207 cm?®

2 ANER wE AL U

@ 1087 cm?

@ 386mcm?®

@

12cm
\

T~~12rcm-~"

O




J92 97159 diEe Zehd dA=gold. o] A =%

AN

NN

/
o

@ 24rcm? @ 36mcm? @ 44ncm?®

@ 48mcm® ® 50mcm?



& 27e U5 QEEolth o] YR EGe] Fuli?
| Tcm
| \
| ¥
]
| \
I \
I \
: 10cm
r\\ 1
/ !
/ Mo
/
4 cm
® 28rcm? @ 36mcm? ® 40mcm?®

@ 48mcm?® ® 56mcm?



2 o & I
C‘Olno ‘W_K
©° M E T
Nk 5 X
O M = R
ﬂalﬁfﬂﬂ

o T
w_m% 1,%
ﬂ_/_ﬂ_u__d
m..ﬂdﬂ],.ﬂ

Ay 0 X
mﬂP .o
= m,lo:c
T F TN
INTIE ,H_u‘mﬂ
W OE o W
s TN
M= "
Jp o B o
T HH— | only

7F?

=S
L.

EE-EF

e}

@ 208 @ Uy

D 128

® 21E

@ 268



10.

£ Fu)7} 127 cm?

=

HEx5o] dolg F-5tH?

@ 2cm ® 3cm

® 5cm

, ©]




